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MATHEMATICS & SCIENCE TRE w§ R

" The nucleus resulting  from 2;§U after | ' ‘Qiu ¥ e B Vg gR B-BUIl F
successive emission of two c-particles and BHE SIS % IRURTSY 99 Tl
four B-particles is S -

_— (A) 230__ (B) 23
® ag B - ij;Pa s 1 h ESORa

- ' (C) 230 (D) 230
© 2%y el 2§§U oz PU o;VY

2 The rate constant for the first order reaction|2 gy @Y & TS ANfpaT @1 o
is60 s~1. The time in which it reduce the Reriep 60s~t & | dg g R

th .
concentration of the reactant to 2 value Slﬁimw DI Higor ith A9 I8 9T 7

i6 z
&

is (A) 46 Jprey

{A) 46 seconds (B) 46x 1073 2o
B) 4.6 x 1073 seconds

(@ 46x10°2 Eeer

@) 2 JFprgw

(© 4.6 x 1072 seconds
(D) 2 seconds |

A body cools from80°C tog4°C in 5 s TP MBI g0°c W gaoc T sUEr 5
minutes and same body cools from 80 °Cto ! e § BT & g1 I8 Rem 80°C 9
52 % iy 4@ minutes. What s the | 52°C % oUE 10 e § e 2 u

temperature of surroundings ? ‘ 2
(A) 24 °C ®) 25 SIRIUIRT & QIR &7 qrg 2ry _
(A)  24-9C (8) 25°C

N

& 22°c (b) 28°C
© 229 (b) 28°C

* I x=3_ 247 then x% + Z will be af%’ng_gv«zg‘rﬁ‘rx@—l;fﬂﬂﬁ

(A) 34 (8) 30 BRI -
(© 36 D) 24 i (A) 34 (8) 3p

(€ 36 (D) 24




-_—

8m at origin, 500 gm at x = 40 cm and 400
8m at x = 70 cm. The distance of the centre

of mass from the origin is

5 Three masses are placed on the x-axis : 300 |s. I geET 238 W, 300 gm @I Hel

g = 500 gm &1 , = 40 ¥ w
T 400 gm BT » = 70 9 W] W T

3 — gy
(A) 40 cm 8) 50 cm Sﬁir P TR B g R @ 59
{¢) 30 cm (D) 45 cm (") 40 G ® 50 o

(© 30 . (D) 45 ¥t

If a body loses half of its velocity on
penetrating 3 ¢cm in a wooden block, then
how much will it penetrate more before

Uﬁwaﬁaﬁﬁa\awmws
TR AU H emr 4 W o 2 o we
S &R M W Ry R

coming to rest ? farmargeen § a1 Sy 2
(A) 3cm {(B) 4 cm (A) 3 cm (B 4 cm
€ 1cm (D) 2 cm © 1 cm @) 2 em

The length of the minute hand of a clock is
14 cm. The area swept by the minute hand
in 5 minutes.

U9 TS B e a1t 9 @ omrs u
TR | BE 9ol O % 5T 5 Bee
PR BT T &5 BT S=war B -

(a) 154 - (8) 154 m? (A 154 (8 154
12 6 12 ThHE 6 T

(C) ﬁ Crﬂz (D) 154 Crnz (C) 154_ - (D) 154 =
3 ) 9 i T ES224d ? ThI

A 25 watt-220 volt bulb and a 100 watt

=220 volt bulb are joined in series and

connected to the mains. Which bulb will

glow brighter ?

(A) First 25 watt bulb and then 100 watt
bulb

(B) 100 watt bulb
() Both will glow with same brightness
(D) 25 watt bulb

25 9 -220 dic€ B TS Fod BT 100
die -220 9T & [WR I A Aol
SISTR I@ Red @9 wieR) ¥ S
ST § | B W ged e qws 2

(A)qg‘cﬁzsarmaﬂmﬁwwomm
goq

(B) 100 9T FT gog
(@ SFT Toq T THESY |

B} 25 gIC HT Fog
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9.

10.

12.

Which of the following is not a colligative
property ?
{A) Optical activity

{B) Depression in freezing point
(C) Relative lowering in vapour pressure

(D) Elevation in boiling paint

In a single throw of three dice, the
probability of getting a total of 5

(o) 5 8 5
216 108

© 1 o 1
216 36

. In Friedel Crafts alkylation, besides AICiz,

the other reactants are
(A) C.Hg + NH; (8) C.Hg + CH;ClL

(© C.H, + CH;COC!
() CcHg + CHy

A convex lens is in contact with concave
lens. The magnitude of the ratio of their

2
focal lengths is Y Their equivalent focal
length is 30 cm. What are their individual

focal lengthsincm ?

{A) 15,10 (8) 75,50

(D)--10, 15

() -75, 50

9.

Prefefeg § o SoEEd O 6 T -
(A) yepreiT fepareierar

(8) fgdid &1 JAGTHA

(€ arUEd B ARG JFITAT

(D) FgYHid BT ST

0. §F IRl & THA BT § HA AT 5

. ied BEE & Tedlelde H

M P wifear Bl -

1

(A) 5 (B)
216 108
(9] i {D) 1
216 36

AlCl,

¥ JAE] JAVERD & -
(A)  CgH¢ + NH;

(8)  C.Hg + CH,Cl
(©  CHg + CH,COC!
(0)  C.Hg + CH,

12~WW§WW1X?€$W§%!

@ He9 e @ Agua . @
=

qoaﬁjﬁéﬁsﬂ?g?*?ﬁmqﬁ

A -5 © (8) 75, 50

{9 -75, 50 (®) -0, 15

—

|




14.

15.

16.

17.

If pendulum bob on a 2 metre string is
displaced 60° from the vertical and then

released, what is the speed of the bob asitis

passes through the lowest point in its path ?

(A) 4.43 m/sec (8) /2 m/sec

© 2y (o) 1
V2 X 9.8 m/sec _ m/sec

V2

In a AABC, AB =6+/3 cmy, AC =12 cm and

BC = 6 cm, then the angle B is
(A 60° (B) 45°

{© 120° {d) 90°

The half-life period for a zero order reaction

is equal to

(A) 0.693 (8) 0.693
K[al, K

© [Al, o) 2K
2K [Alo

Which of the following behaves both as
nucleophile as well as an electrophile ?

(A) CH;CHO (8) CH;CI

(¢ CH;0H (D) CH;CN
Which of the following does not have a
metal carbon bond ?

A Ni(CO),. (8) C,H:MgBr

(© K[Pt(C,H,)Cls] © 2 [(OC,Hz)s

13.

14.

15.

16.

17.

R e Ugad @ ST 2 W B SN W
dam & B SHEER W 60° W o AR

gre far o & | 9 @1 e W W
frerem g ¥ ToRA T AT @1 BN 2
(A) 4.43 . ® /7 AW

(€ J2ZxX98 qg, 0 _?L: R
42

ws Brst AABC 3. AB = 6y3 WL AC

- 1o 0 AT BC = 6 M & & BT B
S 99 BR1

(A 60° (B)  45°

@ 120° (o)  90°

g TR @ e & e aE
FTe a¥IER © -

()  0.693 ) 0.693
© [al, o 2K
2K [Al,

g § ¥ ®F  ANeEE
EREFRLRE] [T & TR B BT © ?

(A}  CH,CHO (8  CH,Cl

(© CH;0H (0)  CH,CN
fyfrfed § & el argeRd 99 T8
g2

() Ni(C0), (8  C,H;MgBr

©  K[Pt(C,Hy)Cls]
©  AI(OC,H:)s
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s A small metal ball is suspended in an|i& €1 ¥ Tb Bl Fg JWFH O B
uniform electric field with the help of an FEgar ¥ voadE T &F § dcaHs
insulated thread. If a high energy Xray| <l & | afk @ S=A Sl @ X-ray
beam falls on it 7 g% SW Sl o © Al -

(A) The ball will not deflected at all. (A) e RS & Br |

(8) The ball will move to infinity. (8) e o WX el Sl |

(©) The ball will be deflected opposite to the (O J=a gy & ada feem § Ralg
direction of field. 2rf |

(D) The ball will be deflected in the direction (D)ifE dea & =) feor ¥ fafa srfl
of field.

= Realvalueof;:andy,if%:%_ X.:_l=i o gy x—1+ y_i—_lzi @A oy ARy BT

+1i 3—1i 341 31

(A) -10, 12 (8) -4, 6 i AF BT -
© -2,5 D) 7,-7 (A -0, 12 (B) -4, 6
© -2, 5 by 7, -7

20. Which of the following is not a good 2o Aeffies § § o9 9 EEs T8 T2

conductor ? (A Cy 9 (8) NaCl(s)
(A) Cu metal () NaCi(s)

e (© NaCl(aq) (D) NaCl (Rewrean)
(0 NaCl(aqg) ) NaCl (molten)

21. The work done in placing a charge of |21 100 ASHibRe  giikal F g §
g x 10”18 Coulomb on a capacitor of 8 x 102 ST =7 IET =4 8 B
capacity 100 microfarad is BT BRI -

(A) 16 x 1073% Joule W 16 x 10732 S
(8) 3.1 x 1072° Joule B) 54 x 10-2° 9@

(© 4 x 107 Joule {© 4 x 10710
Z = A

(D) 32 x 10732 Joule D) 32 S
32 X 10—3[ \JiQ




23.

24,

N
(9]

26.

. At the magnetic poles of the earth, a

compass needle will be
{A) Vertical (8) Bent slightly

(€) Horizontal

(D) Inclined at 45°to the horizontal

Percentage errors in the measurements of
mass and speed are 2% and 3% respectively.
The error in the estimate of kinetic energy
obtained by measuring mass and speed will
be

(A) 8% (B) 10%
(©) 2% (D) 12%

An artificial satellite moving in a circular
orbit around the earth has total energy [PE +
KE] E,.Its potential energy is

(A) 2 E, (8 —E,

© 158, (0 E,

. The value of x in the following series :

146+11+16+ ... + x =148
(8) 39
(D) 37

(A) 36
(c) 38

The molarity of pure water is (density of
water=1gm1L™%)

Ny
w

&

et ¥ gEPE gdl R T FEE B
gz el -

(A) FHeaTeR

®) go @ TH T

(€ &ferst

() &R A 450 W T &
cemE AR G b AN d HEWE 2%

JR 3% @ ufem e A g | g=EA
) T B AOT ¥ WE RS S b

arwerd | Ffe Bl -
(A) 8% (B} 10%
© 2% D) 12%

T P SWE S A & aN SR
W@Wﬂﬁ'ﬂ'@%ﬁ%@a
it (Refrsr Td RS o) B, © |

s Rt ot Bl -
W 2E, ® —E,

© 15, ® E,

5. RrfaRag Soft § 5 &1 A9 BT -

1+6 + M+ 16 + ... + o = 148
(A) 36 (B) 39
() 38 (D) 37

TE O B ARl § (9 P OETIA
1gm L™)

(A) 55.55 M (8) 45.55 M (A} 55,55 M (B) 4555 M
(€) 66.66 M (D) 44.4 M (€ 66.66 M (D) 44.4 M
Page: 7 590881




27. The perimeter of a triangular field is 450 m| 2. T fneTeR & B GRAM 450 T T
and its sides are in the ratio 13 : 12 : 5. The TSB! 'ﬂGﬁaﬁ H SO 13 112 5
area of the triangle g | Bryeer g BT Bl B -

(A) 5670 m? (8} 6750 m? (A) 5670 :%2 (B) 6750 :?;2

28. The length of a cold storage is double its |25
breadth. lts height is 3 metres. The area of
its four walls (including doors) is 108 m?- aRI ORI (Sl Afgd) o SIAHA

3
3
s
3
.
i

its volume will be 108 =° T | A U8 B A BAT -
(A 316 m? 8 216 m® W 316 B 216
© 206 m? (®) 416 m? © 20653 D) 416

2. The water droplets in free fall are spherical | 2o. waaa]géiﬁ iR & 9 @ q\—cﬁ Gl

due to | R MAPR HEe FRO BT § 2
{A) Gravity (B) Viscosity N (8) YT

{¢) Surface tension . (0 T 919

(D) Intermolecular attraction (D) QRIS AHYOT

0. A bomb of mass 9 kg explodes into 2 pieces | 30- 9
of mass 3 kg and 6 kg. The velocity of mass 3 3 kg IR 6 kg % al gﬁ?ﬁ[ H dear B |
3 5

kg is 1.6 m/sec. The kinetic energy of mass 6 kg == =7 39 46 3. £ 1 6 kg
kg is | oo & view o= =90 -

{A) 3.84 Joule (8) 2.92 Joule &) 384 T 3 2.92 S

{c) 1.92 Joule {D) 9.6 Joule Q) 192 5 ) 9.6 I

st. If the arcs of same length in two circles =1 a4 S H AU A gl b HF W
subtend angles of 60° and 757 at their 60° IR 75° ¥ PO N © ISR f{f‘ﬁ

centres, then the ratio of their radii 1 et o1 S AT -
(A)6:7 (8) 5:4 A 6 :7 (8) 5 : 4
(€)7:8 (P)4:7 © 7:8 D 4 :7

Page: 8




s Which ore contains both iron and copper ? | 32 5 T UTH | el 9 dtqr <[ 82
(A) Chalcopyrite {B) Chalcocite (A) grepurRse (B EICNIES

{C) Cuprite (D) Malachite (€ FgITST (D) HoETSe
33 The number of moles of KMnO4 that will | 33 xMnO, % Tl B 9= ST B
be needed to react completely with one e & 1 A T T Romg #

mole of ferrous oxalate in acidic solution is Tﬁa— e & fIlT mEwTe F_
W 3 ® 2 ® 3 (8 2
5 ; 5 5
©1 (o 4 © 1 D) 4
5 5

34 In what ratio does the point (-4, 6) divide | 34 al ﬁ:g}e,ﬁ A6, 10) <& B(3, _8) @l
the line segment joining the points A(-6, 10) S arel YarEs B R (-4, 6) 5

_g)? .
and B(3,-8) ? Wﬁm—
(A)3:7 (8)4:9
A 3:7 (B) 4 : 9
(¢ 4:5 (Dy2:7
€ 4 :5 D 2 :7

[N
n

35 |f npr:npr_:iand nCr‘—'nCr+l’ then the | % afg prr:nprfiw ne ~Nc. ar

r +
valuesof nand r
AR r BT AN BT -
(Al n=4,r=5 B n=5r=4 n =T
(A)n=4!r=5 (B)n=5, =
©n=2r=3 {P)n=3,r=2
©n=2r=3 ®n=3r=
3. CH. —CH —CH, —OC,Hs 3. CHy—CH—CH,—OCHs
IUPAC name of = | 2 27 s > 27 9% 57 JUPAC TH ®
OH OH
{A) 1-Ethoxy propan-2-ol (A) 1-geiferdl SO-2-aiiet
(8) 3-Ethoxy propan-1-ol (8) 3-geifeRl) W13l
() Ethoxy pentanol (© TR YA

(D) 2-hydroxy-3-pentanone D) 2-EESRN-3-UcHIT




37.

(a3
[s4]

¥ tanx +secx = V3 such that |37

0 < x <7, then xis equal to

(A) 5T B T
6 6
0 27 o) ®
) 3

Nessler's reagent is used for the detection of | 3
(A) NHj (8) Na™t

0 K* () Cu?*

A particle is projected at 60° to thel:

horizontal with a kinetic energy K. The
kinetic energy at the highest point is

(A) K (B) zero |
0 K o) K %
4 2 |

. Root of the equation 3x2 +7ix+6=10 40.

(A) 3i, 2i (B . §
2

2

w
©

afs tanx + secx = V3 SEiEz
0<x<m A x BT AN B -

() 5w ® T
6 6
(0 2m o T
Ed 3

forg BT §
(A NHj (8 Na©

© K' o cu®t

WWKWW@W@T@@S

aﬁwwgéﬁamm%,?ﬁﬁaﬁ
ﬁngﬁamgﬁwﬁ_

(© K e X
4 2
WET 3?7+ 6=0 ¢ W
B -
- G,
@ 3, 2 ol T
:-z",gA
Q - 2 D) 2 E}.
b3t =l
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41.

42,

S
o

SECTION - 1
CIVIL ENGINEERING

In lettering, graph size of letter ‘Vis 41.
{A) None of these (8) 4x5
{¢) 5x5 (D) 3x5
Rolled steel section ‘ISNT’ is read as 42.

(a) All of these (8) 1.S. light T-bar
{©) 1.5. Normal T-bar (P} 1.S. Junior T-bar

. Soil pipe in plumbing services means a pipe |43

{A) carrying solid materials
(8) carrying industrial waste
(C) carrying waste water from water closet

(D) carrying water

4. If Whole Circle Bearing (WCB) of a lineis |4+

120°. Its Reduced Bearing (RB)is
{A) N 120°E (8) S30°E

(© N60°E (0) S60°E

Number of links per metre length of a chain |45

are
(A) 10 (8) 3
(©5 (b) 8
. Hard solder is an alloy of 48.

{A) None of these

{€) tin and lead

(8) copper and zinc
(D) All of these

g - I1
fafya SSfrf
ERTP & ) P UG WSS T
W o & B T
(B) 4 x5
(© 5 x5

e‘rﬁaﬁsw‘cﬁamqsm»ﬁqaw

g
(A 3 Il

(B) WRAY AFEG SA@! T-BS

(© wREY TEE AR <58

(0) YRAY A B -8

qapRl W WrHad Usd Pl vanr  fear

SIGI
) oRT g & ware § |

®) aiEfe aule & vaE o |
(C)Qﬂmaﬂﬁmwrﬁa‘vmﬁl
©) g & warE |

T’iqa PNIET (WCB)f{ el X k!
ﬁ(&imﬂlzecélﬁwm(RB)ﬁ

Y@ & @A B
(A N 120°E (8)

(D) 3 x5

S30°E

(& N60°E () S60°E

g o TE G awrs § FeE (links)
R B
(A) 10
& 5
HOR Areex fraa) fasmErg ® 2

A TR QA DI 2B R IR BF
(o) ¥ |

(8) 3
(D) 8

(© fes1 iR o

59088



47

i
o3

50.

51.

%]
(i)

54

. The local cwelling of finished plaster, is | 47-
termed
(A) Hacking

(¢) Cracking

(8) Dubbing
(D) Blistering

generally measured with
(A} Bonning rod (B} Ranging rod

{©) Steel tape (p) Levelling staff

. Fly-ash can be used
(A) Mass concrete

(8) Cellular concrete blocks

() Fly ash bricks (o) All of these |

(A) 33 grade
() 53 grade

(B) 43 grade |
(o) All of these

level to increase

(A) Strength (8) Workability
(c) Stability of structure

(o) All of these

A We\l-conditioned triangle has no angleless =
than
) 20° B 60°
(0 45° (o) 30°

_ Dadois usually provided | 53.
{A) Living room {8) Dinning room
) Roofs (D) Bathroom i

. Angle less than 90° is known 54.

{A) Obtuse angle

(B) Acute angle

(D) None of these \

(©) Rightangle

The depth of excavation of foundation is |48

S
©

Grades of cement | 50.

The foundations aré placed below ground | 5

(®) ST
(@ EXR TS (o) HHie IS
Siq & TERE et o €
) e (8) IS IS

© v @ e © 3 af
W'&?ﬁg%

(A 33 IS ® 43 IS
© 53 IS o) F T

@ i wA |3

© wad (o) grEA |

90° © @re BT dedld! T

W R DI (8) = PIT

(© TEPIT (o) = W DR SEl




n
)]

58.

60.

. Reinforcing material is

(A) All of these

(C) Castiron

(8) Mild steel

(D} Cement

. Foam glass is used for

(A) Fire proof {(8) Heat insulator
(€) Both Fire proof and Heat insulator

(D) None of these

Manhole is constructed in
(A) River {8) None of these

(C) Public sewer (D) Drain

Representative fraction is equal to
() Distance of Map
Distance of object

(B) All of these

{© Both Distance of Map and

Distance of cbject

Distance of object

Distance of Map

(p) Distance of object

Distance of Map

The dimensions of Queen closer is
(A) 9cmx9cmx9cm

(E_i) 19cmx9cmx9cm
(€ 9cmx4.5cmx9cm

(D) 19cmx4.5cmx9 cm

On a diagonal scale, it is possible to read up

57.

(]
oo

- UgaT Ut ®

A i (B)iﬁ?{@ﬂﬁ
Q) TAdl drer (D) e

B AT BT YA R S §
(A) SRR (B) FHEAREN

(€ FRREN Jor SHRET SF
®) T | P Tl

eI o1 FHEfor e i ®
(A 98 § BgTH I Bis T8
© uiere Waw § 0 A F

- Freue B a1 99

W @A © F
R
S as TRPIG . THAPIEY
TTERBigl ARSIl
©) sl

59. G419 AR B AT B

(A 9 cm x9 cm * 9 cm
(B) 19 cm *9 cm * 9 cm
© 9 cm *x 45 cm X 9 cm
(O) 19 ¢cm % 4.5 cm * 9 cm

ol Are ¥ ger < 9%l ©

to A v B) IR o
(A) one dimension  (B) four dimensions © 39 T o) =7 R
(€) three dimensions (D) two dimensions
Page: 13 590851




61.

62.

86.

67.

. The window which is

Chernical formula of potash lime glass is
n K,0- Ca0 - 65102 '

8 K,0° PhO - 65102

(C) }332@ * CQQ * 68182

(o) All of these

Binding material is 62.
() Cinder (B) Coarse sand

(c) Bitumen (D) Ston€e grit

Metric chains are genera\\y available in 83.

(B) 25m&100m
(D)lom&ZOm \

(A) 20m&30m
] 15m&20m

pozzolana is 64.
(A) surkhi (8) Cement
(c) Sand (D) Bitumen

|
|

roofof a building, is called

{A) Lantern window (B) Casement window

(c) Bay window (D) Dormer window

Main ingredient of Distemper is
() All of these (8) Cement

(c) Lime (D) Chalk

Object of seasoning of tmber is

{A) None of these (8) Reduces decay

(C) Increases decay (p) Reduces strength

provided ona s\oping’ 85.

'ZO % CE.O * 68102

"

(A)

@® K,0-PbO 6510,

© Na,0-Cal 6Si0,

©) 3 T

do TEd T

(A Q@ (8) Hrel 1)

(© faefE (o) qER B T
oY SuaH '

e ]

(A)g{&i (8) HHTS

© 99 o fefE
i-‘ﬂéeiff%s*sﬁ lswmﬁ%ﬁg@ﬁi‘?f
@ 3 Resal (Dsgﬁ?f@sﬁﬁ
%@mmg@w%

(A)irwﬁ (8) HHUC

© T (D) =@

-%@?aﬁ@sﬁm(@aﬁﬂ)zﬂmﬁﬂ g

B gt & PE T
(8) mzﬁrmm\

(© mzﬁaeﬁr\
to)mﬁzﬁ—cﬁHM\
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68. The type of bond in which every course|ss Wy TaH &) w\é H SR 9 WIR <M @7
contains both header and stretcher is called TN BT e § e (d1S) HEardt &
(A) Mixed bond (8) All of these (A g = B I g
{€) English bond (D) Flemish bond © 3 a9 (D) wifyer g1a

89. Planimeter is used for measuring 89 TTHIHER &I YA g oy &

(A) Area (8) Volume (A) &% 7a H (B) e Aoy §
() Slope (D) None of these © T 9199 o (D) T & B T

70. Dumpy level is used for 0. Dumpy level &1 T T Ser ©
(A) Chain survey (B) None of these (A ST gdgor
(€) Compass survey (D) Levelling (8) _&,;F}{ 3 Ebél's; T

@ e wdeger (D) dAqfei

7. Length of scale is equal to . HOE B AT

(A) R.F. x Max. length (B) R.F. (A T 9 x siffeay ESIE]
Max. length B Frege

(o] HE®EaY aF\;"é

—— X Max. length h !

R F. ©
(D) All of these ———— X ARHAH AR

Freue i
@) F Tt

72. Queen closer may be placed 72 T FAoN @ ST &

(4) All of these (B) In header course (A) ¥ Tf (B) gev ?aé =]
(A Both In header course and Stretcher (€ R 7 R Qaé )

course (0) W e
(D) Stretcher course )

73. In building the damp proof course is|73. wgq] § Wl AP Igal T ST B
generally provided at A 9y 9 ™ (B) I g7 W
(A) Ground level (B) Plinth level © frvesd 99 W®
(€ Lintel level (D) Water table level (0) Siel TP a9 TR
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T4.

75.

76.

78.

9.

Figure represents

—— —

(A) Cutting
{c) Object line

Atrapis
() Gully trap

(c) Floor trap

To construct a 10

prefer
(A) syretcher bond

{c) Header bond

3,25 m and riser is
(a) 23

(©) 26

Figure represents
I

() All of these

—

(&) Long preak lineé

———

e

plane line (8 Short preak line

() Outline

provided in kitchen for waste water

8) All of these
D) intercepting trap
cm thick wall, you will

(8) English pond
(D) Flemish bond

_If the height of the first storey puilding 15
13 cm., NO- of treads is

(8) 24
(o) 25

— —

(8) Objectline

(D) Centre line

Crown glass is used
(8) Electric bulb

(A) Window panes

{c) All of these

(A) Radium

D) Glass tube

_ Luminous paints contains

() Calcium sulphide

{©) Calcium sulphide with yarnish

{p) None of these

® B T

© afeEe & o) ST X
YS-W%@Hﬁﬁaﬁrﬁﬁiﬂﬁ
qﬁmﬁﬂmm%

®) e @® A T

© TAR < (D)gnzq@{q\%"‘e;q
76. 10 cmﬁiﬁﬂmﬁﬁﬁﬁ{ﬁsﬁq
I

() wER A (8) SN WA

© TR A () TR AT

7. wﬁmﬁmﬁﬁr&‘&za‘m
@ TEeR 18 M ‘@r?ﬁetéa?rm
2l

(n) 23 (8) 24

{0 26 {p) 25
s o  TERE
o o @) e ARl
© < e Al (D) TR A
;wwwrarm'qzhﬂﬁareﬁ%
‘a% w B (&) fres 9
TR (o) e <38

80.




81.

82.

Chemical formula of Gypsum is
{A) CaS0,-H,0 (8) CaS0,-2H;0

© i

(0)
CaS0, + 5 Hz0 €as0,

The brick laid with its length parallel to the
face of a wall known as
(A) Header {8) Closer

{©) Sireicher {D) None of these
A wooden block hinged on post outside a

door is known
(A) Horn

{c) Cleat

(B) None of these

(D) Stop

According 15-1967, size of A4 drawing sheet
inmm is

(A) 148 mm x 210 mm

(8) 297 mm x 420 mm

{€) 210 mm x 297 mm (P) All of these

Back bearing of a line is equal to
(A) fore bearing + 180°

(8} fore bearing + 90°
(©) fore bearing + 360°
(D) fore bearing + 270°

In chain surveying field work is limited to
(A) None of these

{8) Angular measurements only

(C) Linear measurements only
(D) Both Linear measurements and Angular

51, fywr o1 RIARS A T
(A CaS0,-H,0

(B) CaSO4 E 2 Hz 0

© 1
CaS0. EH"‘O

(o)  CaSO0,
2 dc % o, JAR B I WE B
TR @ Ol g, 's;@fﬁ?f%
() g (B) FATOR
© IR (o) g F PIg TR
83. ofSl I TCHl =ael @ dRe H 9TR

P azs | ﬁaﬁv—dﬁmm% G331
Ped ©

(A 'BH

®) T W DS e

€ Tile (D) ¥EM™

M-Is1967$agﬂwA4waﬂta%m
mm 3 &
(A) 148 mm % 210 mm

(8) 207 mm X 420 mm
(€ 210 mm * 297 mm
o) ¥ T

0. fRl Y@ BT YT A B A9 Ol §
(A 3 AP + 180°

(8) a1 femHE + 90°
© o @A + 360°
@) g e e+ 270°
s wdg wdge § & el A ©
W e ¥ o
(8) el BT AT

© Had TET 9TH B
() Y& vd PO wE qF D
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e

g7. No. of bricksin 1 m? brick masonry 87

{A) 500 nos.

{c) None of these

(8) 300 nos.
(D) 400 nos.

The platform at the end of series of steps, is | &5

known as
(A) Rest (8) Landing
{c) Platform (D) Stop

0. Least countofa Vernier theodolite is
(a 10" (& 20"

© 30 () 30"

a0 |In setting up a plane table at any station
(A) levelling is done first.

(8) centering is done first.

{¢) None of these

(D) both levelling and centering are done
simultaneously.

91. Which material has less hardness ? iot.

(A) Feldspar (8) Diamond

(c) Topaz {D} Quartz

92.

B

In levelling, station
(A) where level is kept.

(8) where staff is kept.

(©) level and staff are kept.

(D) None of these

——

Q0.

wmﬁﬁs‘eﬁﬁéﬁéﬁﬁmﬁ

(A} 500 {8) 300
O i BE T B} 400
S A wedl o Taiftd ® Qe B
Fa] Il ©
(A) I (B) oifeT
(O WeHH (D) ¥M™
o0 gfax B AETHD ©
(A) 1G" (B) ZO"
© 30 (o 30"

ﬁsﬁ@ﬂﬂww-&ﬁaﬁ@nﬂ%@
T W €

) gaqerd Tea B P50l TE

{A) BoediR (8) TTTES

@ oErs © TS
Sabyy § w3 98 S 3 Bl ®
w Sfa = T

Page: 18




3. The least count of Vernier scale is % qFRIR BT IUdHIG &
(A) sum of the smallest divisions of main and Wi 1§ affw | & TG B
Vernier scale. ' @ BT AT
(8) product of the smallest divisions of main Blyer vd aftR W % wew B
and Vernier scale. @El BT IO %t
(© value of one division of main scale 9=y WM & s W @1 A9 CIREEY
divided by total number of divisions of| N w® e @Al P T
Vernier scale. ©) ¥ o ’
(D) All of these
94. Sound absorbing material % oG R garef
(A) Mat _ (B) Straw board O B) w1 9
(€} Both Mat and Straw board © e e &1 9 €M
{®) None of these (b) T W B T
5. Theodolite is used for measuring 95. W@H@E BT TIART Ty ST ©
{4 Bearing (B) Vertical angle A) ReaM | §
{9) Horizontal angle (D) All of these (B) FefeR BT g oy
(© 1 SRS BT AT
0) I el =
9. Plotting of in-accessible points on a plane | %. gy ﬁ’g&ﬁ BT JINET @ e w
table is done by a1 Sirar g “
(A) Traversing (B) None of these (A) Fgra-¥Xger Iy « |
(©) Intersection (D) Radiation B) 399 ¥ B15 T “
© sheseT AR ¥ |
|
©) Rftwor fAfy @ |
) \
- Types of varnish is . qIi+er & YeR § “
(A} Qil varnish (8) Water varnish (A) emrer qrffer {B) gt qrfefer ‘\
(€} Both Oil varnish and Water varnish (€ JiFar R g qrffer “
(D) None of these G- |
j \
- The ceiling height of a building is 8. TP 999 o i #ﬂ'ﬁ{' S ﬂ‘
(A) between ceiling and ground level A 9 99 I Hifei ‘
|
(8) between ceiling and floor level | B wfag Tifelr
|
(©) All of these (D) upto roof © J ;i (0) wg g%
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s Weight of one bag cementis o TH N GEue BT IO g

(A) 30 kg. (8) 20 kg. () 30 kg. (B} 20 kg-

(© 25 kg. (D) 50 kg. (© 25 kg ) 50 kg.
100. Pile foundation are suitable for 100. qT5d g Bl warT fear S g

(A) None of these (8 Water logged soil W R A BE EE]

{©) Compact soil (D) Soft rock (8) S W49 qreil gal

(© deta Jat (0) gg T




